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o Wnte short nnswers of any SIX. parts

R What is meant by real: numbers‘7

© Muply: (2+\F - f 5

Express 5t 2 f wfth rmonal detmnunator

" What is meanthy remmnder theorem?
:Factonze ’ x +27.._ 

" Define HCF factor.

o Fmdthesquareroot. léx +24xy+9y

. FmdLCMof 1K -«49 and x2—dx— 21

. Deﬂne lmear equamns

2. Wnte short answem of any SIX parfs

o ”3 Solveby usmg fmtorxzatson method

What is meant by quadram: equanon‘?

| Q:Fmd'-ﬂ\edﬁt_emmants-vf,mmﬁ? r““{i*

: ‘Deﬁne remrxgularmamx o

G Fmd the value of xin: tke giVen mangla

Deﬁne quadnlaterals .
( z;_dzly )

} Setpeeld )
@) Bt @

g g o NI
&V S E @

sedfefil (W)

%3427 ;e‘{df ®

EA e o
" 1655 Uxy+9y° ) ;_':,_r;};'&?éyu;, (vit)

Cxtedx=21al x40 ke (i)
O HEuMea?
T I

AP g

w3

3(x+3) 14+x éJ* Q.

 eaxze0 ESsiut @
® 3 Yﬁ;:‘/g;o':&_/&»m: (m)

A=[:§ :‘;:]A s ®)
- _é&ﬁ;?:ﬁ ’ﬁﬁ )

~EAE oy

e x et s i

. _‘ b x a8 3 (i

Ak @



http://www.result.pk

12

-Draw a triangle ABC in Which:

“Write short. answers of a;ny SIX parts
Defirie altitudesofa triangle.’

What is meam.by niedians ofa trimgle? oo

B e S e A 2 R e € P R AR s R L R E R

' mﬁé;;':’»m' mﬁ' 54cm, m—A—C— 3.9cm

BN A TN

ALl ek G

SeVe glal el @)
LS L UABC BB () |

 What is meant by abscissa and ondinate?

. Stiow that the points A(4,3), B(“Z 3) and C(=6,3) are collinear..

aj;}véuw -u?f"(jw 12 m/:v“ SEImE el Nl ()
Thesides of a nghttnangle are Sem and 12em. Fmd the hypntenuse i

Find the arca of & mang}ewhose sidesare 5, 12,a0d 13, -éphwmms A 12 SUpSpR L fel ®
: ' _é.,fméuv i)

_ S s Dol Lol (vi)
o »( S8, 3) i BE2Y)  AGD) s (‘,ﬁﬂ

Write down the formulafo_f area of atnang_ie.

~Define nght angle trumgle _&J /Juﬁwl}lﬁ (ix)
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Smplify: oy tiEoT R .;:_;-zx_,y pEI é’fﬁ"(..ﬁr) -5
. Factorize: 8x -~§1;~J— : ——— ZEuf '('x._./i)‘
3 - 2 : :
— - b v
_,s;mphfy _:4.: 2 ;"_‘:’;b + ”f;z A -6

y—6+ﬁ=‘o :éd’ (..,),

- Solve by complenng the square method: x*=10x-3=0 _ : A B I )Y (Jl) -7
Solve byCramersmeﬂxod - x+3y=6, gj&&?_{—)ﬁ,&/ ()

et dH( 8

" Find the value of x;m’ 'the’ g'xven-triangle: y

725%6 é‘}rjg_bwwuu,p.r )

Draw an equalateral tnangle w1th Iength of. eacb sides 6cme

e d’ +b2 duJ/Jefuwun a2 =b? s 2ab &M»L&,:D’ijﬁ‘f (..Ar) 9
CIf the legs of a rxght tnang!e ate: Za% and a _bz prove that: the hypctenuse is g2+ b2.

' What kind of a- trxamgle has vemc&s? - Al6,-2), B(1,2), ¢ C(-2,2) Y(}'c‘./—&i;{:r)u’(g}b;f)bu (o) -

- (End)
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